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function dxdt = SL(t,x)
globalmgLclxs1xs2 Tus K
dxdt=zeros(2,1);

X=[x(1):x(2)];

Xs=[xs1;xs2];

Dx=X-Xs:

DTu=-K*Dx;

Tu=Tus+DTu;

dxdt(1) =x(2);
dxdt(2) = (Tu-0.5"m*g*L*cos(x(1))-c*x(2))/I;

_-'l;fw&lr



O 95 (ol S0

Sl Ko ey ko J S

%Single link

clc

clear

globalmgLclxs1xs2KTus
m=1;=1;0=10;c=0.1;l=m*L"2/3;
xs1=pif3;xs2=0; Tus=0.5"m*g*L*cos(xs1);

A1=[0 1;m*g*L/(2*]) -c/I];%xs1=pi/2
A2=[0 1;m*g*L/(4*1) -c/I];%xs1=pi/6
B=[0;1/1];

pd=[-2 -7];

K=acker(A2,B,pd);
K1=K(1);k2=K(2);

% % % % % % % % % % % % % % % % %|
[t,x] = oded5(@SL,[0 10],[0; 0]);
X1=x(:,1);x2=x(:,2);

14

15 —
16 —
17 —
18 —
15 —
20 —
21 —
22 —
23 —
24 —
25—
26—
277 —
28 —
29 —

Lné&lr

% % % % % % % % % % % % % % % %o %\
[t,x] = oded45(@SL,[0 10],[0; 0]);
X1=x(:,1);x2=x(:,2);

X=[x1 x2];

n=size(t);n=n(1);
Xs1=xs1*ones(n,1);Xs2=xs2*ones(n,1);
Xs=[Xs1 Xs2];

Dx=X-Xs;
DTu=-K(1)*Dx(:,1)-K(2)*Dx(:,2);
Tu=Tus+DTu;

figure (1)

hold on

plot(t,x(:,1)*180/pi)

figure (2)

hold on

plot(t,Tu)
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